f Gg; @m ! ;'J—_IP \’6) Addisjon opptil 20 (horisontal)
StudentName: ExamDate: ______ ExamScore: ___
13+4= 9+ 17 =

14+3= 1H+1=

6+ 13 = 20+9=

20+ 13 = 16 +13 =

11 +12= 12+ 8=

6+9= 2+17=

12+4= 4+ 13 =

10+2= 3+10=

10+4 = T+2=

1+14 = 18+ 13 =
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f ng @m —|;IJ—_IP \’6) Addisjon opptil 20 (horisontal)
StudentName: ExamDate: ExamScore: ____
13+4=17 9+ 17 =26

14+3=17 11+1=12

6+13=19 20+9=29

20+ 13 =33 16 +13 =29

11+12=23 12+8=120

6+9=15 2+17=19

12+4=16 4+13=17

10+2=12 3+10=13

10+4=14 742=09

1+14=15 18 +13 = 31
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